Al A

Al £ Ol & A &
0238 20laF HOISXEAEFHNSFUXRA)IZ A
SN B
M HOISXMeIANE 2S2e(S3/HDI2)
Sl HOI2 HMelAE F=HXS FUXNAIIS(HOISHIANLFHAAFX2II3) (Che 2l
SA - B SRIBH) - MRAR - BAS ofl &t A HIDEZ
S 58,426 46,436 11,990
HOISM2IAIE 22l (23/HDIE) 18,000 18,000 0
HOIZ2 M2IAIE =X FXIIS(HIISHMel AL 18,000 18,000 0
FHASAFLXEII3)
HOlE XMelAlg F=8X9 =2X2A)I=s 18,000 18,000
301 EtE NS 18,000 18,000
14 J|Et2a s 18,000 18,000
OmlE XMelAld =8 F2X2
1,500,000 *6 I 2-+22] 18,000
HWREs(sZ L) (22/HDII8) 40,426 28,436 11,990
SEXE(HIISHIAEF=HRAFLXIAIIZ) 40,426 28,436 11,990
SEXE(HIISFXHAIIS) 40,426 28,436 11,990
602 KIXl=S 40,426 28,436 11,990

01 BtolXI=S 40,426 28,436 11,990

OHIIZSXelAE F=8HAS =X II= 0l
40,426,000 40,426




